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Semester: 6-CBCS 2018
Subject: DESIGN OF MACHINE ELEMENTS Il (18ME62)

Faculty: Mr Manikandan
Instructions to Students :
Answer all the questions
Answer All Questions
Q.No Marks CO PO BT/CL
The following parameters refers to a pair of right angle bevel gear:
Power to be transmitted : 8 kW
Speed of pinion: 1600 rpm
1 PCD of pinion : 100 mm 25 CO4 PO1,PO3,PO7 L3
Speed of gear : 400 rpm
Permissible static stress for both gear materials : 138 MPa
Calculate the module, face width of gears, number of teeth on gear and pinion. Also check for dynamic and wear load
Select a V belt to transmit 20 kW at 2000 rpm to another pulley to run at 1000 rpm. 25 CO1 PO1,PO3,PO7 L3

mnm






\

F+°>\43'Q.-f~ I e

LMo dule ()

= s ke by M(fiT—ZLB

S‘W\Q 'L""H‘ P aund (ay.q)\ oo Mad e 5{ Came
TN Priom 15 Wtk |

Mg Lot oo

f‘{: ‘—Z\L\V L)/'m (R_ié)

hese Vm:ﬂle,n' |
—— " & ’V\/cec

| {0,090
k- €. c
T — = 0. s
4'C~&Vm §41
WUtime L - R
~
2
AR RECTC






‘g""\\l‘-)'j M =215.94 mwm cu\al | 7458 mm

geled\‘,\a d mallen \/a—-Q}-\L/E.gJ_LD[' mez (-Smny

S No o fesr (2,2

PR § P
v T (y = 4¢
- |
2 |)<?; - 43((‘& 2%4
& (_Fﬂe lrd, (k).
L= Ko ool le
2 T = {F 2w

O Dypori s
Fa e + v, (E+4LB
'—\

WV,

T ~l—+Lc
LMW\’ d QEW—MIJ 4 f- = 8 076

bored ) MmN o Lov Sked 6 $hee
Lo hads v

®



0roy"p Q

O'OYb | Fﬁa
J

o

A= lgza 9+ Q) xy 2™ (1aza-

N (v s X@O)

—
N\ 2d —n}lér%l N by gy ro

El = Aobiz 46 ny

O, G by e,

—
l“w >P’J
Q = QZ\/z L
vy B TR P
[« Vs ’\
C‘ﬁ‘cl V'g) w ( /orm«sq)
'—2‘\/1 ‘é[’. )-lC)
A V.
2L 2 - ;)(/T



{7 _axioer 2 - 10E8)
8. 2axlopy.2 1

[ob %6 ¥ A [+ 8% > e

\
(3 (/4(,0 4}

>Qo(f&-§(

(333440);\; >~)0£~|?*ﬁ-{'

K> ol A4
\
(439 ¢ a)%

"SL,
For Sheat g1y b 5,

Qo’ﬁ DT




"P'—* Aok vo
N, =Asoo )wrm
Y\1~, looo;\,P\m

‘7(\ = \ve mm = A

'A\’ ;i G bra A@'LM'(L/ C= 2N
.“"\‘3& ’

n,OLt > \/\Q ‘iz

B O\a\KlUV()
S Agy ™ mo

‘FU’v ™ Y

\;\
0200 {

Do o
lo ‘F«Hm/j
O ‘1
1‘:3\01)1:,& )Q:/’,S
N, .




o &
—  Moaximum F"WU\ (-"*?"\“"\“'a

N*': \/ 0.4 ¢ \"i-él\ , 2 s v
\/am‘) J(_ /OLl‘

P_\ -

=0 H 1oy 2
. - A I
00-419'°’ |

L9 (.
—
l(’g I()L!

N -

4+ ¢
——quﬁvx"(am+w£)$iﬁov~NVV“
_\



D= 2 (™ 'DJD
e

=N = QA0 -
M -;lég.é(ré
Lx 4o

= Iéfalgr"
RIS
= ol o % |.
‘\ L

Qo x o- 18 x0-97

i





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

